
LC800EZ PARTS LIST 
 

ITEM # PART # QTY DESCRIPTION 

1 030-0677 1 208cc Engine 
2 804-0220 1 ENGINE TO HOUSING SPACER 
3 704-0112 1 ENGINE HOUSING WELDMENT 
4 804-0230 1 SHREDDER CHIPPER HOPPER 
6 704-0109 1 IMPELLER PLATE WELDMENT 
7 804-0016 1 CHIPPER KNIFE 
8 704-0240 1 FRONT HOUSING WELDMENT 
9 704-0154 1 DISCHARGE CHUTE WELDMENT 

10 705-0079 1 COLLECTION BAG – WHITE 
13 704-0123 1 VACUUM INLET COVER 
14 704-0127 1 INLET DOOR – LIFT STYLE 
15 704-0135 1 ROD – PLTD. 
16 704-0137 1 SPRING – TORSION 
17 704-0136 2 END CAPS 
18 706-2243 1 CABLE GUIDE - TETHER CLIP 
21 703-0424 1 1/4 SQ X 2” KEY 
22 090-0233 5 5/16” USS FLATWASHER  
23 090-0418 21 5/16-18 WHIZ LOCKNUT 
24 090-0460 8 5/16-18 NYLOCK NUT  
25 090-0067 11 5/16-18 X 5/8 HHCS 
26 090-0090 4 5/16-18 X 1 ½ HHCS 
27 090-0408 4 5/16-24 X 3/4 HHCS 
28 090-0394 4 5/16 SPLIT LOCKWASHER  
29 090-0413 2 5/16-18 X 1” FHSHCS 
32 090-0228 1 3/8 SPLIT LOCKWASHER 
33 090-0021 1 3/8-24 X 1 1/4 HHCS GR 8 
35 705-0088-G 1 LOWER HANDLE WELDMENT 
36 705-0034 1 UPPER HANDLEBAR 
37 705-0132 1 HANDLE BAR BRACE - METAL 
38 705-0002 1 HANDLE GRIP 
39 703-0108 2 4.10/3.50 – 4 PNEUMATIC WHEEL 
40 090-0457 3 PUSH CAP 
41 090-0072 4 5/16-18 X 2 HHCS 
43 090-0673 4 CAP PLUG 
46 705-0098 1 DEFLECTOR 
50 705-0157 1 HOLSTER 
51 705-0049 1 KNOB 
52 090-0378 1 ¼ SPLIT LOCKWASHER 
53 090-0223 2 ¼ EXTERNAL TOOTH LOCKWASHER 
54 090-0480 1 ¼-20 X 5” CARRIAGE BOLT 
55 090-0013 1 ¼-20 x 1 ¾” HHCS 
56 090-0232 5 ¼ USS FLATWASHER 
57 090-0470 3 ¼-20 NYLOCK NUT 
59 805-0288 1 BLOW BACK SHIELD 
60 080-0061 1 3/16 X 64 DOME BLND RIVET 



61 090-0503 4 5/16-18 X ¾” SELF TAPPING SCREW 
62 030-0263 1 2.80/2.50 X 4 PNEUMATIC WHEEL 
63 090-0613 1 ½ X 4” CLEVIS PIN 
64 705-0161 1 WHEEL BRACKET WELDMENT 
65 705-0160 1 WHEEL SUPPORT BOTTOM BRACKET 
66 705-0170 1 WHEEL SUPPORT TOP BRACKET 
67 500-0010 1 SPACER 
68 705-0166 1 WHEEL LOCK PIN 
69 709-3409 1 SPRING 
70 090-0454 1 1/8 X 1” ROLL PIN 
71 090-0088 2 5/16-18 X 1” HHCS 
72 090-0615 2 SHIM 
73 030-0264 2 BEARING 
74 100-0015 1 3/32 HAIR SPRING COTTER 







                             


